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Instructions to candidates
o Answer any FIVE FULL questions.

e Missing data, if any, may be suitably assumed.

1A. What is an agile process? Explain Extreme programming agile process model along with its

1B.

LC

advantages and disadvantages.
With suitable examples explain the following.

1; Dependency relation in class diagram
ii. Include and extends relation in use case diagram
iii. Role name in a class diagram.

Write the equivalent java code for realization of the following class diagram.
1.
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[5+3+2]

2A. A crisis management scenario is usually triggered by a crisis report from a witness at the scene. A

coordinator, who is in charge of organizing all required resources and tasks, initiates the crisis
management process. The coordinator has access to the camera surveillance system. The surveillance
system is an external system used to monitor traffic on highways or other busy routes. The cameras
are installed only in specific locations. If a crisis occurs in locations under surveillance, the crisis
management system can request video feed that allows the coordinator to verify the witness
information. A super observer, an expert in the field (depending on the kind of crisis), is assigned to
the scene to observe the emergency situation and identify the tasks necessary to cope with the
situation. The tasks are crisis missions defined by the observer. The coordinator is then required to
process the missions by allocating suitable resources to each task. Depending on the type of crisis,
human resources could include firemen, doctors, nurses, policemen, and technicians, and hardware
resources could include transportation systems, computing resources, communication means (such as
PDAs or mobile phones), or other necessities like food or clothes. Animals, for instance police dogs,
are also used as resources in some situations. The human and animal resources act as first-aid
workers. Human first-aid worker is assigned a specific task which needs to be executed to recover
from the abnormal situation. The workers are expected to report on the success or failure in carrying
out the missions. The completion of all missions would allow the crisis to be concluded.

1. Draw a use case diagram for the above problem statement.

ii. Write the use case specification for any one use cases of the use case diagram drawn in Q2A(i).
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6A. Consider the f'ollowing Pseudocode:
, int ﬁmctionZ(int y)
int x = 0;
While (x <=

O *y) ¢
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if (x % 11 ==0) && (x%y==0)) {
printf(“%d”, x);
x++; } //Endif
else if (X% 7==0) || (x %y ==1)) {
printf(“%d”, y);
x=x+2; }//Endelse
printf(*\n”);
} // End while
printf("End of list\n");
return 0;
} // End functionZ
i. Draw the CFG for the pseudocode.
ii. Find the cyclomatic complexity for the CFG.

- iii. Find the independent execution paths and test cases for the same.

6B. Develop an activity diagram based on the following narrative.

6.

The purpose of the Open Access Insurance System is to provide automotive insurance to car owners.
Initially, prospective customers fill out an insurance application, which provides information about
the customer and his or her vehicles. This information is sent to an agent, who sends it to various
insurance companies to get quotes for insurance. When the responses return, the agent then
determines the best policy for the type and level of coverage desired and gives the customer a copy
of the insurance policy proposal and quote.
Which among the following decisions can be made during requirements phase?

i. The ticket distributor is composed of a user interface subsystem, a subsystem for computing

tariff, and a network subsystem managing communication with the central computer
ii. The ticket distributor provides the traveller with an on-line help

iii. The ticket distributor system response time expected is not more than 5ms
[5+3+2]
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